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1. The zone that most closely resembles a boreal forest is the zone.

A. lower montane

B. montane

C. subalpine

D. alpine

E. upper alpine

2. Which of the following types of change occurs over generations rather than within a lifetime?
A. Acclimatization

B. Transpiration

C. Equilibration

D. Adaptation

E. Pubescence

3. A grizzly bear feasting on a recently killed deer is an example of the transfer of energy.
A. radiant

B. chemical

C. autotrophic

D. symbiotic

E. kinetic

4. If a population of monkeyflowers has 500 members with 135 of genotype DD, 280 of genotype Dd,
and 85 of genotype dd, what is the frequency of the D allele?

A.0.135

B.0.275

C. 0415

D. 0.5

E.0.55

5. Which of the following is characteristic of an r-selected species?
A. Short lifespan
B. Low rate of reproduction
C. High parental investment
D. Delayed development
E. Long lifespan

6. Black walnut trees release juglone and other chemicals that can be toxic to other plants. This is a
possible example of

A. isoclines.

B. exploitation competition.

C. allelopathy.

D. character displacement.

E. chthamalus.

7. Assume that lions running on grass neither benefit nor are harmed by this interaction, but their activity
helps the grass grow. This is an example of a
A. mutualism.
B. endosymbiosis.
C. ammensalism.
D. symbiosis.
E. commensalism.
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8. Species that feed on more than one trophic level are called
A. omnivores.
B. herbivores.
C. tertiary consumers.
D. primary producers.
E. secondary consumers.

9. The final theoretical stage of succession is called the stage.
A. omega
B. ultimate
C. penultimate
D. climax
E. pioneer

10. Species that occur in one area, but nowhere else on Earth, are called
A boreal
B. endemic
C. beta
D. local
E. invasive
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1. Defining “Natural selection” (7 points).

2. Describe “adaptive evolution”? (7 points).
3. Defining “Allelopathic agent” (7 points).

4. Defining “competitive exclusion” (7 points)

el

Defining “habitat” (7 points)

6. Defining “facilitation” (7 points)

7. Defining “community” (7 points)

8. Defining “dynamic equilibrium model” (7 points)

9. Defining “The standard redundancy model” (7 points)

10. Defining “net primary production” (7 points)

species.






